THEERALR (K01)
TH4 | R7=1 AHJNESR = - sl BadRTFE FHENX Sy TE TR - SR
THXSy HEKGR
THX Sy - AR - R - A Bikk HAL Gl e (4E) H R e
HEKGR
= 1
BT
= 1
EHI T
= 1
H ) TE R, M5k e
m3 75
B 30 1% 1 TR CEE- AR Y 5T
L=10. 9km
m3 75
B AL T
= 1
7%y
m3 75
R T
= 1
R+ T
= 1
7)) T
m3 12
HERL HEYE L
m3 3

=N

N
Zim




T =T

4
g

<

AfEZR (AN01)

THE4 | R7=42 AMYNERR = - WlEEL HashR TFE FERXS TH TR - o
TS5y TERW R
TEX Sy « TfE - FEY - 4051 S BT e (FimE) & (4mE) B i 2
FEE R
m2 8
D E BB CE- ERRY L ETe)
1=10. 9km
m3 9
¥ Ly
m3 9
S ATFTHERE T (K& HEAL)
= 1
EaY i g0 7 AAKaY)) - A& 18-8-40BBorN W/C6
0%LA T
m3 42.
BEAkHE &) T
= 1
AT KT
= 1
1 5 L BY{pE
m 10
T
= 1
TAT 7V ME%E T
= 1
e A (R - B R D)
m2 10
_ 2 — %l:m%/a\




THHEHRIER (401)
THE4 | R7=4 AMMNER = ElEL EaxRTE FEX Sy TH TR - S
THFXSy HEH SR
THFX Sy - THE - R - M Bikk HAL Ko (Rifla) Ko (4D WO S
K I (HIE - BT )
m2 10
A TE L
= 1
A
=K 1
IZEEE
= 1
Biafr T LT
= 1
SObE - A - NIRRT
=K 1
ARARFARF AT T
= 1
2% LA L
Him2 36
2% LA L
Hm2 36
G N
= 1
T8 - i) T
= 1
-3 - TR IR




THEERALR (K01)
TH4 | R7=1 AHJNESR = - sl BadRTFE FHENX Sy TE TR - SR
THXSy ERG R
THX Sy - AR - R - A Bikk HAL Gl e (4E) H R e
G SR VARPYE €S L=5. Okm
t 13
AR BT
= 1
AR EE A (B)
AH 60
[EREI -
= 1
IR
= 1
Limfa g (FGk L)
= 1
i T
= 1
Bl
= 1
T
= 1
— I A
= 1
TEATAK
= 1

=N

N
Zim




[==} Al 1= 1\
T EHEERFESR (K01)
THAL | R7=1 AHMNER = - AR DL BAELE HERXSy TE RGN - s
THEXSY EBW R
TEX Sy « Tl - FHR « FHB B AT 8 (milal) Mg (5FE) FEHETE o

W B4 & OV 5 T e B

= 1
TR

= 1

-5 - IR




